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1.

When baking powder is heated or mixed in

water is produced.
(A) H, (B8) O,
(C) CO, (D) CO

Which of the following hills serve as @
connecting link between Himalayas and
Plains ?

- (A) Tipra Hills

(B) Morni Hills
(C) Aravali Hills
(D) Ambala Hills

Find the missing number (?) in the sequence
5, 11, 23, 7, 95, 191,
(A) 47
(C) 49

(B) 48
(D) 50

Aquifer mapping done to assess

(A) Ground water situation

(B) State legal situation

(C) Position of women in the State

(D) Animal census

In AABC, AB = 6+/3 cm, AC = 12 cm and
BC = 6 cm, then [B is

(A) 120°
(C) 90°

(B) 60°
(D) 45°

The sum of digits of two digit number is 9.
Also, nine times this number is twice the
number obtained by reversing the order
of the digits of the number. Then the
number is
(A) 18
(C) 36

(B) 81

(D) None of these

The distance between the points (a, b) and
(—a,—b)are

(A) 0 (B8) 1

(©) 2vya? +b? (D) None of these

O T

. ST S drer i ot 8 i feran S ® @
foremman wmaT B, @ AR |
(A) H, (B) O,
(©) co, (D) CO

. Prefeifes # & H- vetreat e 3
el FfaAeHe ¢
(A) feuer verfeal
(B). Ah weTfeat
(C) owmae Terfsal
OEEENIEIREIER

. s@en 5, 11, 23, 2, 95, 191 7 T &1 (?)
T R |
(&) 47 (8) 48
(C) 49 (D) 50

: wmﬁm_____wnﬁ'm
FA F fou R ST ® |
(A) et TR

(B) Twg i faftres ferfa
(C) Tsw # ufgeneti $i feufa
(D) el ht SHEEAn

. AABCH AB = 643 @.#1., AC = 12 &.1.

ARBC=6 U1 8, B 2
(A) 120° (B) 60°
(C) 90° (D) 45°

. TFHT TR HI G F IR HAMOR | 3T

&I T 9 T[T 39 HEAT o 3hi i 39y A
?ﬁémmm%zw%lam
(A) 18
(C) 36

-(B) 81

(D) ¥ @ g 7

. fg(a,b) M (-a,-b) Ffagd?

(A) 0 ®) 1
(C) 2va? +b? (D) T & =S T
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8. The main presence of Aravali Hills is fon{nd

in the District of

(A) Faridabad (B) Rohtak

(C) Gurgaon (D) Hisar

RBI was set up on the basis of the
recommendation of

(A) Indian Central Bank Enquiry

Committee
(B)
©)
(D)

Royal Commission
Simon Commission

Nehru Report

The total area of Haryana is
(A) 44212sq.kms (B) 45212 sq. kms
(C) 46212sq.kms (D) 47212 sq. kms

If the equations x — 2y = 3 and 2x + by =
6 represent the same line, then the value
ofbis

(A) 4 ®) -4
(C) -2 (D) None of these
Balmukund Guptaisa literator
of Haryana.

(A) Sanskrit (B) English

(C) Urdu (D) Hindi

Find the missing letters (?) from the options
for DW, ?, LO, PK, TG, XC.

(A) FU
(B) EV
(C) HS
D) IR

-3

10.

11.

12.

13.
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ST TRTeat i g
et  or el ¥
(A) T ®) e
(C) T (D) feem
(A) R el oo st afify
(B) TS FHyH
(C) ©TEHA FHHIH
(D) &% frd
BRETOT T et SAEA B

(A) a4212Fifrd.  (B) 45212 fRA.
(C) 4s212=ifwdr. (D) 47212 fH,

g I x — 2y = 3 3R 2x + by = 6 THH
@ ST §, @ b HT A R

(A) 4 (B) —4
€) -2 (D) T & I3 T
e A SRAT R TH
el g | -
(A) T=Ha (B) 3Msh

(©) % (D) R

DW, 2, LO, PK, TG, XC &g forshedi # @ g
HET (?) T |

(A) FU
(B) EV
(C) HS
(D) IR
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14.

15.

16.

17.

18.

Which of the following statements is wrong
about Deccan Plateau ?

(A) Thisis bordered by the Western Ghats
in the west, Eastern Ghats in the east
and the Satpura, Maikal range and
Mahadeo hills in the north

Its western hills locally known by
different names such as Sahyadri in
Maharashtra, Nilgiri hills in Karnataka
and Anaimalai hills in Tamil Nadu and
Cardamom hills in Kerala

Anaimudi, the highest peak of
Peninsular plateau is located on the
Anaimalai hills

The Eastern and the Western Ghats
meet each other at the Shabarimala
hills

(B)

(©)

(D)

“Vaishnava Jana To"”, Gandhiji's one
of favourite devotional songs which he
adopted into the routine of his public prayer
events, is written by

(A) Rabindranath Tagore
(B) M. K. Gandhi

(C) Kabir Das

(D) Narasinh Mehta

If P(E) = 0.05, what is the probability of
‘notE'? -

(A) 0.05

(B) 0.95

(C) o

(D) Not defined

Three cubes each of side 2.5 cm are joined
end to end, the surface area of resulting
solid is

(A) ‘93.5 cm?
(C) 90cm2

(B) 87.5cm?
(D) 85cm?

is famous for Lac Bangles.
(A) Kurukshetra

“(B) Ambala

(C) Mahendragarh
(D) Rohtak

0 0T

14. =TT TSR % ey § Fr=fafaa § & s9-m
¢ FYFTEA® ¢

15.

16.

17.

18.

(A) sEeh dian gfeem o gfeeeft =, o §
geff T 3 I # wagel, Aot Avf
3ii weRe i weriedt §

(B) 3T ufvad geTfedl T T W
iy Tt & 99 Tenrg 7 wany,
Fete 3 i veried’ 3R afterrg,
# sy TRt SR e H Hreiam
et 3 A & ST S &

(C) TS, THET YSK it Tl Sl
A sTTIETS Y yefeal A el @

(D) it af e ae Ush-gat & yrerdmre
yaTfeat o firerd €

“Georg s Ay, et = R wfR e St

Ieei oTu AR sefar waedl Y fem=t

T 9T AT, g for@n e |

(A) ey &M

(B) TH. . TiE

(C) FRI™

(D) e Agar

I P(E) = 0.05, ‘Ex 8 <Y 741
TReraT g 7

(A) 0.05

(B) 0.95

(C) 0

(D) uftsniftya =1 fomer < wemar

T 2.5 Y. qearet 3 v iy
T | St T R, whomdt S g
8T ©

(A) 93.59.1.2 (B) 87.5¥.112
(C) 90®.Hi.2 (D) 85d.1.2

aeEHEE ST gfed
(A) Foar
(B) HATAT
(C) wesTe
(D), Uea=
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19. The war of Kurukshetra was narrated'to

20.

21.

22.

23.

24,

Dhritarashtra by

(A) Shankaracharya
(B) Madhvacharya
(C) Sanjay

(D) Vallabhacharya

If 2 is a zero of polynomial
f(x) = ax? = 3(a— 1) x — 1, then value

ofais
| -%

& %
(D) None of these

© -%

The term Mesophytes implies that

(A) Aquatic plants growing in fresh and
marine waters

(B) These are plants growing in soils
with optimum soil water conditions
prevailing for major part of the year

(C) Plants growing in extreme weather
conditions

(D) Under water growing plants

Who among the following leaders moved
“Objective Resolution” in the Constitutional
Assembly ?

(A) Jawaharlal Nehru

(B) Dr. B. R. Ambedkar

(C) Dr. Rajendra Prasad

(D) Vallabh Bhai Patel

Colour of the wheel, which we see in our
National Flag is

(A) Dark blue (B) Black

(C) Light blue (D) Navy blue
Jogis (saints) use instrument
to sing songs.

(A) Shehnai (B) Been

(C) Sarangi . (D) Dholak

19.

., g

20.

21.

22,

23,

24,
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(A Y

(B) weamem

(C) Ho

(D) Sewvre

“ﬁwfmwﬁ—a(a—nxqm@ |
iﬁzﬁyaamm%

. 5
A Vs B) -%

© -% (D) ¥H ¥ =g

13 Hiderse & fifva @

(A) TR IR S 5w § I T ST Y

(B) ¥ = & arfrmier wmt Hf qrw S aTedt
I ge1 ot et 8 gar # I
T e B o

(C) wftee diem & IHaTet 9

(D) I & iR IHE NY

frafafad § § F=-8 a1 3 wigum g |
:smwnw?
(A) VTR HEE

(B) . . 3N, T

(C) . TeZ JTe

(D) ToeT WTE Uee

TR et et i e ofed TR
(A) e e (B) =hreTt

(C) weem Hel (D) T e
shuﬂrﬁ—dqﬁ%ﬁm___mﬂwmﬁﬂ
FAE |

(A) & (B)

(C) gt (D) BIo®
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25. 5000 years old Indus valley civijizatio™

26!

27.

28.

29,

30.

31.

found in the presentday pistrict.
(A) Ranchi (B) Hisar
(C) Kurukshetra (D) Angeerasa

An object 4 cm in size, is placed at 20cm
in front of a concave mirror of focal N9t
10 cm. At what distance from the mirror
should a screen be placed in orgerto 0PtaI"
a sharp image ?

(A) 20 cm from the mirror

(B) 10 cm from the mirror

(C) 20 cm from the mirror

3

(D) %cm from the mirror

Omega-3 fatty acids are present in
(A) Fish (B) Walnuts
(C) Pulses (D) Both (A) and (B)

The “hub of making durries” in Haryana is
(A) Rohtak (B) Manipur

(C) Panipat (D) Gurgaon

Find the word which is different from the
other 3 options given below.

(A) Mathematics (B) Arithmetic

(C) Algebra (D) Geometry

ISRO's first woman scientist who recently
spent over 403 days in Antarctica is

(A) Tessy Thomas
(B) Mangala Mani
(C) Nandini Harinath
(D) Anuradha T. K.

The force that blood exerts against the \yq)|
of a vessel is called

(A) Diastolic pressure
(B) Hemodialysis
(C) Systolic pressure
(D) Blood pressure

25.

26.

27.

28.

29,

30.

31.

IO AR
5000 @ret GUHT ey =t wvaran adum R
F__ Fordfaeh
(A) T (B) fraw
(C) Feam (D) @i
10 A . Biehd g0 % sraet 901 3 gy
20 . HY. ot T4 F. . AR A v g

T TS | gease SfH ure s o forg wdny
 foraeft gt W wal e =t ?

(A) Tdor & 20 9. H.
(B) & 104. =i,
(C) wud %ﬁ.rﬁ.

() wdwd 2 &, .

IITI-3 T A 7 39t
HuEAR
(A) woe (B) @R _
(C) T (D) (A) 3 (B) 2
e # ‘A wHg HR
(A) Ugds (B) qﬁrgt
(C) U@ (D) T
feRumus i A P v g = |
(A) T (B) 3F=wITfOTG
(C) sftsmfora (D) wfufa

ISRO ﬁ%&ﬁw%maaﬁmﬁ@z
%{%aétﬁ ai)zﬁﬂﬁ 403 &=t @ s
i ferg
(A) < aimE ‘
(B) I |
(C) fe sy
(D) A .
& g afeent e W S e S

FEAE |

(A) I T
(B) T
(C) S &t
(D) =T
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32. Asbestos is found in the District of 32, TERE ISR e
(A) Hisar (B) Gurgaon (A) feam (B) Tty
- (C) Karnal (D) Mahendragarh (C) AT (D) WeETG
33. New States come to exist through union, | 33, 7T T=T T, TFT 3R T9 o A
consolidation, confederation etc. Here Jffeaea o 31d & | 9= 99 @ wehia B
confederation re'fers to . (A) s e e wiTe oA T
(A) Form of Union where Centre is strong o
and States are weak g .
(B) Form of Union where States are strong (B) T I FY e T Wieraet Rz
and Centre is weak FASR B ®
(C) Some States have strong power and (C) T® T=al ¥ Teafers Wikt &t 8 IR
Centre is also strong Fz ot wiFaee 2 8
(D) Eq:aéltp?v\;er sharing between Centre (D) ¥z ot Tl F g GEE w9 @ i
T <1 foreror g 3
34. Find the number which is not like the other | 34, & TET T Tt ST 31T 3 TS AL
3 numbers. TR
4 3 . 3
A 15 B) 21 (A 1g B) 21
6 16 6 16
© 21 (D) g - (©)- 3% D) =&
35. If‘+' means '+, ' means ', ' means ‘x’' [ 35. IR e W, e, T e )
and ‘<’ means ‘+', then 9 +3+5-3x 7= A FMAT R, MW9+3+5-3x7 =
(A) -5 (B) 15 (A) -5 (B) 15
(C) 25 (D) None of these (C) 25 (D) T © IS T
36. The lake which is dedicated to Sun Godis | 36. Td 33 % GHfud #Id &
(A) Damodara lake (B) Anangpur lake (A) TR 3 (B) TR et
(C) Hathnikund (D) Surajkund (C) &frigs (D) =Fs
37. The values of x and y satisfying the 37. g 2[2} - % =23 g_ % = 43}?[1:]@@
equation 2(§]+%=2 and-g——%mﬂf are Wﬁxaﬁ(ya’*‘lﬁ%
a (A) x=a,y=b
(A) x=a,y=b (B) x=2aly=—2b
(B) x=2a,y=-2b . ©) i %
= - X=a,y=-—
(C) x=a,y=-b q 418347 <
=2a,y=2b
f3—D) x=2a,y=2b oy .
= s q+3—5-3X7
- Q | As
™ E‘q LT % C’ ' 3‘5%3"“7
- 43 93— 1547,
S 5 3-—2 “

D NES")
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38, Skill of archery was the test in the
swayamvara of
(A) Parvati
(B) Gouri
(C) Meenakshi
(D) Draupadi
39. Which of the following is a plant
harmone ?
(A) Insulin (B) Oestrogen
(C) Cytokinin (D) Testosterone
40. Damdama lake is situated in the District of
(A) Faridabad (B) Gurgaon
(C) Rohtak (D) Hisar
- M41. The device which converts sound to
electrical vibrations
(A) Speaker
(B) Microphone
(C) " Integrated Circuit (IC)
(D) Stereoscope
42. During the debate on citizenship in the
Constitution Assembly, a famous quote,
“There cannot be any dlwded onalty’, is |
said by
(A) B.N.Rao
(B) Somnath Lahiri
(C) Govind Vallabh Pant
(D) None of the above
43. Area of the circle inscribed in a square of
side ‘a’cm is
gf o,
(A) a?cm? (B) Tcm
(©) ———-cm —-—c -
4 (D) 5 “oHl
-8-

38.

39.

40.

41.

42,

43.

AT AR S

GitEEICI Nl & I
qlta off |

(A) TrEe

(B) M

(C) aft

(D) Zruet

frfafag & @ F19-91 TF IEY THA & 7
(A) TRm (B) TEISH

(C) WA (D) EIERH
ZeHT =fier ﬁﬂﬁ-ﬁf@m%]
(A) HEER (B) TeTd

(C) eeh (D) feam

I8 I S et st forega @ # Sewan @
(A) T

(B) HISHIBIA

(C) wehid TRy awévﬁ)

(D) wfEresy

Hferem g1 # AR W swE % 9N,

g wuH, “‘H8 ot awEr i T8
Bt fohe et ?

(A) & @ =

(B) Ty et

(C) Tifag Fewy ya

(D) ¥ & HIS TE

qet ‘2’ B % it F sl o g W
%‘a’qa—cr%

(A) a2@.t.2
(C) “Taz T 7.2

a® 3.2
(B) _4_&. .

Ejai'a‘:ﬁa

S .
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44.

45.

46.

47.

48.

49,

AandBarefriendsandBis 2 years younger
than A. A's father D is twice as oldas Aand
B is twice as his sister C. The age of D and
C differ by 40 years. The ages of ‘A'and ‘B’
are respectively

(A) 26yrs., 24 yrs. (B) 25yrs., 23 yrs.
(C) 30yrs., 28 yrs. (D) None of these

Mahabharata war was fought during
(A) 900BC (B) 800 BC
(C) 700BC (D) 600BC

The potential difference between 2 points in
a current carrying conductor when 1 joule of
work is done to move a charge of 1 coulomb
from one point to the other

(A) 1ampere (B) 1volt .

(C) 1 newton (D) 1ohm

Complete the analogy.

Trigonometry : Mathematics : : Zoology : ?
(A) Botany

(B) Chemistry

(C) Biology

(D) Bio-Chemistry

The High Court has the jurisdiction under

Article 226 for the enforcement of
(A) Civil Rights '
(B) Sanctioning Rights

(C) Fundamental Rights

(D) Child Rights

In order to improve the condition of children,
has been implemented in Haryana.

Integrated Child Development
Project

Innovational Child Development Plan
Indian Child Development Plan

International Child Development
Project

(A)

(B)
©)
()

44,

45.

46.

47.

48.

49,
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AdipRmEsiAadBR g |
AFRarDR I AR AT R R BH
210 & C A AT } | D 3R C it g
4098 1 TR B | A 3R B i arg o §

(A) 26 @, 2438 (B) 257,239
(C) .30aY, 285 (D) FH A HE T
T 1 IS % A el |
(A 900%. 9, (8) 800%. Y

(C) 700%. 7Y, (D) 6007%. 9,

ST 1 TS AT T foig A AR A o ST
% g 1 et o e e 2, Forge geTerR A
3 firgatt 3 ofrr Favrarae @

(A) 1 YER (B) 17eE

(C) 174 (D) 137@
FHEqaT ol |

Frprorfafy ; i : : Sigfam: 7

(A) UTe o

(B) TETE IMEA

(C) i fagm

(D) S&-THRA YT

FTEBE 226 o AT Iod AT H
SENREI % Wad o U e |

(D) & AR

g # st &t feufa E3
___mﬁa%mgqqﬁ% Fm
(A) THrRd are foemr gfw@sn

(B) TEYEH STeT T ArsrT

(C) W aTet Terehma st

(D) RIS st fererrer whEor
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50.

51.

52.

53.

54,

55.

_into a philosopher ?

Solutions of the equation
Jﬁxz +11x+6J§=0 are

A) V2.6 (B) _Tg-—&fé
~2 V3

During the freedom movement, who
among the following revolutionary turned

(A) Rash Bihari Ghosh

(B) Aurabindo Ghosh

(C) V.D. Savarkar

(D) Satyendranath Bose

'Who among the following has been Speaker
of Haryana Vidhan Sabha for maximum
number of times ?

(A) Kuldeep Sharma

(B) Harmahendra Singh Chadda

(C) Satbeer Singh

(D) Ashok Kumar Arora

During the suzerainty of the British crown,

Princely States covered what portion of the
land area of the British Indian empire ?

(A) One-third
(B) One-fourth
(C) One-tenth
(D) None of the above

If ‘GIVE’ is coded as 43, then ‘'TAKE' is
coded as

(A) 47
(C) 36

(B) 27
(D) 37
If secO = e 4 , then value of
J7
Jz'ﬁan2 6 - cosec?0 "
i
2cos? 6 -cot? 0

(a) 2
€ 4

If 15" of August was Wednesday, then
1% August of the same year was

(A) Thursday (B) Wednesday
(C) Friday (D) Saturday

(B) 0
(D) None of these
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50.

51.

52.

53.

54,

55.

56.

0 RO A
Fefier V3x2 +11x+ 63 =0 FFAE

A V2,46 (B) %"’3*5

-2 B
(C) TE-.JE (D) 5’ J6
et e 3 anm Feffad # | wF
SHifeert & greifaes = T 7
(A) T foerd gy
(B) afae =y
(C) i, S, gratht
(D) HeA=ZATY 4
rforfae 3 & 1 gatfoes s gl faua=
T T @ IH e ¢ ;
(A) Fereg Il
(B) &R fHg ==n
(C) TasR fiz
(D) T FHR SIS
farfest ety % v frarad usat gra fefew
I ST ShT fohaT o &1 Oy 7T o 7
(A) = foerd
(B) T =g
(C) &Harl 9
(D) 35§ F g e
%lﬁ’:" ‘GIVE' 1 F¢ 43 R, W ‘TAKE' &1 F
(A) 47 (B) 27
(C) 36 D) 37

_4 2tan® 0 - cosec20

i J7 %'?h‘j 2cos? 0 -cot? p
FTAA 2
(A) % (B) 0
(C) 4 AD) T & FIE 7
fE 15 3R hI FHER o, T I T 1 3T
F o1
(A) TR ~(B) gUaR
(C) THR (D) ¥fER
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57. Which of the following form an AP ?

58.

59.

60.

61.

(A) 1,12 2,38
() 0.3,0.33,0.333, ...

(C) V2,2,2V2,4,...

(D) 3,3++v2,3+242,3+3V2,....

According to Haryana Municiple Amendment
Act, any male member contesting urban local
bodies election, must possess

as minimum education.

(A) MBBS
(B) LLB. «
(C) 12"Standard
(D) Matriculation

Consider the following statements and
choose the incorrect regarding Meghalaya

_ plateau.

(A) It isfurther sub-divided into Garo Hills,
Khasi Hills, Jaintia Hills

Plateau stand detached from the main
Peninsular Block

It is also rich in mineral resources like
coal, iron ore, sillimanite, limestone
and uranium

This area receives maximum rainfall
from the north-east monsoon

)
(©)

(D)

The first Haryanavi movie is
(A) Rijuvi (B) Dharti
(C) Yajurveda (D) Osho

Ms. X moves 20 metres in the East direction
and then turns to her left and walks
15 metres and then turns to her right and
moves 25 metres. After this, she turns to
her right and moves 15 metres. Now, how

far is she from the starting point ?
(A) 35 metres (B) 40 metres
(C) 45 metres (D) None of these
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58.
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frafafaa 3§ ¥ 1 v s Aoft
CEIGI

(A) 1,1,2,2,3,3, ..

(B) 0.3,0.33,0.333, ...

©) v2,2,22,4,..

(D) 3,3+v2,3+2v2,3+32,....

ghemon T e gt STfufE % IgER
redt T e 3 AT T et e R
A frféra S =fe |
(A) .. ..

(B) TeCa. .

(C) 12 i =em -

(D) <@t

oo TaR F deyl # FrefrRaa # @ wH-w

FUT A & 7

(A) T8 TR, @ s Sl verfedt |
Iufearior &

(B) UK q&Y YT T & T &

(C) TB T, Tg 31w, fafadamse, <
TeoR 3 Qw8 @i |l A 19
g

(D) T2 & IW-Td AFE & waits I
TS LT 8 |

vgett efEmrE fhem &
(A) Tt
(C) T

geft, X v fewm A 20 Hiew gerdt § o f
3 = et ® 37 15 et <reredt § ok i
3197 g1 gea 25 et et § 1 ikt 9 o1
T g 15 Hiet Iard! B 1 o1, 9% i
frafrfige?
(A) 35X

Cy 45HH

(B) et

(B) 40 Hiex
(D) 3 & S 7l
K

(D) 7 bl




4/2018 (1) (M17)

62.

63.

65.

66.

67.

68.

does not react with dilute

HCI.
(A) Mg (B) Cu
(C) Al (D) Li

Arrange the following structures of the

atmosphere from the surface of the Earth.

(A) Troposphere — mesosphere -
stratosphere -thermosphere

(B) Troposphere —stratosphere —
mesosphere — thermosphere

(C) Stratosphere — troposphere —
mesosphere — thermosphere

(D) Stratosphere — mesosphere —

troposphere — thermosphere

Joginder Singh is a litterateur from

(A) Jalsa (B) Shahabad
(C) Panipat (D) Ambala
Which of the following statement/s is/are

true regarding 97" Amendment of the
Constitution ?

(A) It made the right to form Self Help |

Group as a Fundamental Right

(B) Ithas brought a new provision into the
Part IV of the Constitution (Directive
Principle of State Policy)

(C) Both are wrong

(D) Both are right

Mustafabad is renamed as

(A) Brahmavart (B) Saraswati Nagar
(C) Kisan Nagar (D) Aryabhatta

The ‘Champions of the Earth’ Award is
presented by

(A) UNDP

(B) UNFCCC

(C) UNEP

(D) UN General Assembly

Panchayat Raj Act came into existence

pursuant to Constitutional
Amendment Act.

(A) 71st (B) 72™

(C) 73« (D) 74"

W
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63.

64.

65.

66.

67.

68.
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a9 HC!I o |y AT fseaT el
T |
(A) Mg (B) Cu
©) Al (D) L
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gﬁmﬁﬁﬂaﬁiﬁ_ﬂﬁlv ,
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GIEL ] _ .
(B) &wHEH - EHAIUASY - HEAWSH -
B kLSS ,
(C) THAIIHSH - &WHSH - HEAHSH -
LIEEES] _
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e dcwwRfEsz |
(A) e (B) RS
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(A) 3 Td TR T8 SH 6 ATHR
! Tk HifeTeh TR s
(B) 38 Giaum™ & wmT-1v (= & Hifa
fAceren) % weh = wrayT foR
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(©) UNEP
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English Language

Choose the correct meaning of the idioms giveﬁ :

69. To bury the hatchet
(A) To keep a secret
(B) To make peace
(C) To obtain money
(D) To bury the dead

70. A burning question
(A) A puzzling question
(B) A difficult problem
(C) A hotly debated question
(D) An annoying question

Fill in the blanks with suitable form of verbs :
71. The growing number of visitors
the footpaths.
(A) damaging
(B) damages
(C) are damaging
(D) were damaging

72. When | was a child "_the Violin.

(A) | was playing
(B) |am playing
(C) Iplay

(D) | played

Fill in the blanks with suitable articles wherever
necessary :

73. Ram was appointed Clerk.
(A) a (B) an _
(C) the (D) not needed

74. India is one of very big
countries in the world.

(A) an A fdhe
©) a (D) not needed
0]

1509
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Fill in the blanks with correct options :

75. The scheme allows students from many
countries to communicate
(A) - each other
(B) tothemselves
(C) themselves
(D) with one another

76. An employment advertisement should
the number of vacancies.

(A) provide (B) declare
(C) contain (D) specify

Correct the following sentences :
77. | can't imagine why you were believing all
those rumours.

(A) | can't imagine why you believed all
those rumours.

(B) |can'timagine why wasn't you
believing all those rumours.

(C) |can'timagine why do you believe all
those rumours.

(D) |can'timagine why you have believed
all those rumours.

78. Each of the sports women were given a
certificate.

(A) Every sports women were given a
“  certificate.

(B) Each of the sports women was given
a certificate. '

(C) Each of the sports women have been
given a certificate.

(D) Sports women each were given a
certificate.
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79.

80.

81.

82.

vt W
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9. Candidates are warmed not to carry handkerchief, any mobile
phone, any type of watch, belt, wear ornaments like ring, chair).
earring etc. electronic or communication device, Pen, Pencil,
Eraser, Sharpener and Correcting Fluid in the examination centre.
If any candidate Is found possessing any such item, he/she will
not be allowed to enter in the examination centre. Candidate
found possessing mobile phone or any other aiding material
as mentioned above in the examination room will be treated
a serlous violation and it will amount to cancellation of the
candidature and debarring him/her from future examination.
The written examination will be supervised by doing frisking
‘before allowing entry into Examination Centre, using CCTV
Cameras, Biometric Attendance process by capturing the
| Biometric thumb impression and photograph of the candidates
during Examination. Videography and Jammers etc. shall be used
in the Examination Hall/Examination Centre to stop copying and
impersonation etc. . i
11. Candidate’s request to change the examination centre and seat
. 1in the Examination Hall shall not be entertained.

12. The scanned photograph of the candidate on his/her Admit
Card or attendance sheet will be tallied with the candidate

10.

. discrepancy in the identification and verification of the candidate
examination,and be liable for criminal prosecution.
not separate or displace them. Do not darken the bubbles.in

three copies of OMR Answer sheets separately. Candidate
must handover the OMR Answer sheet without separating

Invigilator will hand over the candidate’s copy after separating
it. The candidates are allowed 1o take away this Test Booklet
with them. S '
Each question has four alternative answer of which only one is
correct. For each question, darken only one circle, which ever
you think is the correct answer on the OMR answer sheet with
only Blue/Black Ball Pen provided by the Commission.
Pencili should notibe’used ’:Jr darkening the circle, If more
than one circle is found darkened, that answer will not be
evaluated.

No candidate shall be allowed to gotothe toilet/washroom during

first and last thirty- minutes of the examination.

No candidate will'be allowed to leave the OMR f&nswer sheet blank.
If any OMR Answer sheet is found blank, it shall be crossed by the
invigilator with his/her signature and mgnﬁoning “Cancelled” on it.

The answer sheét will be evaluated through electronic scanning
prt':gr;:ess. lnoorrpplete or incorrect entries may render I,ha answer
sheet invalid. tes ) =

Carefully fill jn all the necessary particulars'on the answer sheet.
Change of answer sheet is not permitted.

While darkening the appropriate bubble(s) in the boxes darken
the chosen bubble(s) fully as given below. If you darken more
than one circle, your answer will be treatéd as wrong and such
answer shall not be evaluated. Wi [ 4

i
o

15.

16.

17.

18.

18.

appearing in the examination by the invigilator. In the éventof any -
and photographs, the candidate shall not be allowed to sitif the-

13. The OMR answer sheet consists of three copies, the original
copy, the commission copy and the candidate's copy. Do’

the three copies to the invigilator at the end of examination.
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19.
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20. It a candidate does not comply with the instructions as mentioned

above o creates any kind of indiscipline, the Commission shall -
take action as per instructions and in addition can also debar
the candidate from appearing in the Examination, to be held in’

_future and can also file criminal proceedings.

20. afd=ré ananedf Iwfaa FeTl o arer 7 s R an srgaE W FA
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